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8. A survey asks a random sam
from 5% to 6%, with the

sample who say they supp
INncrease.

Ple of 1500 adults in Ohio if they support an increase in the state sales tax
dditional revenye ooing to education. Let p denote the proportion in the

ort the increase. Suppose that 40% of all adults in Ohio support the

(@) If p isthe proportion of the sample who support the increase, what is the mean of the sampling distribution of p ?

p=0.4
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11. A certain beverage company is suspected of underfilling its cans of soft drink. The company

advertises that its cans are normally distributed with an average volume pf 12 ounces and a standard
deviation 0.4 ounce. For the questions that follow, suppose that the company is telling the truth.

do it. If not, explain why you cannot. \{-eg A . vy Aetibutes
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A quality control inspector measures the contents of an 01350 cans ol theTompany’s soda and
o

&(a) Can you calculate the probability that a single randomly selected can contains 11.9 ounces or less?” If so.

calculates the sample mean X¥. What are the mean and standard deviation of the sampling distribution of
x tor samples of size n = 502
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(¢) The inspector in part (b) obtains a sample mean of x =11.9 ounces. Calculate the probability that a

random sample of 50 cans produces a sample mean fill of 11.9 ounces or less. . o
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IS normally distributed. An independent testing organization selects an STS of 36 hot dogs and finds the average

fat content is 18.4g. D_o@s“!:hig_;q;g_lm@lndicgtg_ that the manufacturer’s claim is incorrect? ' | .
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13. The article “ crs {Newsweek, Apr. 22, 1985) states “Surveys tell us that more than half of Arﬁerica’s )

college graduates are avid readers of mystery novels.” Assume the true proportion is exactly 0.5. What is the
probability that an SRS of 225 college graduates would give a sam

) gra e ple proportion greater than 0.6? 7 |
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15. Draw a sampling distribution for a statistic that has. .
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b) Low bias, high variability. Z \ =0.00123
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